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Pk=0+000 Pk=0+120
S. FIRME = 3.56 m? S. TERRAPLEN = 2.10 m? S.FIRME = 4.24 m? S. VEGETAL = 18.16 m?
S.DTIERRA= 0.43m? S. RELL PIE TERRA= 1.30 m? S. TERRAPLEN = 2.24 m?
S.SUELO SEL 1= 12.00 m? S.DTIERRA= 1.87m?
S.SUELOSEL1= 12.15m?
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Pk=0+020 Pk=0+140
S. FIRME = 3.81 m? S. TERRAPLEN = 9.64 m? S. FIRME = 3.96 m? S. VEGETAL = 20.96 m?
S.RELL PIE TERRA= 1.29 m? S. RELL PIE TERRA= 1.30 m? S. TERRAPLEN = 3.20 m?
S.SUELOSEL1= 1215 m? S.DTIERRA= 1.91m?
S.VEGETAL = 18.97 m? S.SUELO SEL 1= 11.99 m?
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Pk=0+040 Pk=0+160
S. FIRME = 2.58 m? S.FIRME = 2.73m? S. TERRAPLEN = 1.21 m?
S.SUELOSEL 1= 7.50m? S.DTIERRA= 3.60 m?
S.VEGETAL= 9.30 m? S.SUELO SEL1= 7.35m?
S. TERRAPLEN = 3.43 m? S.VEGETAL = 11.86 m?
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Pk=0+060 Pk=0+180
S. FIRME = 3.81 m? S. TERRAPLEN = 9.07 m? S.FIRME = 4.38 m? S. TERRAPLEN = 1.82 m? |
S.RELL PIE TERRA = 1.30 m? S.DTIERRA= 8.63m?
S.SUELOSEL1= 12.15m? S.SUELOSEL 1= 11.99 m? |
S. VEGETAL = 18.88 m? S.VEGETAL = 19.61 m?
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Pk=0+080 Pk=0+200
S.FIRME = 4.23 m? S. TERRAPLEN = 7.24 m? S. FIRME = 3.56 m? S. TERRAPLEN = 2.73 m?
S.RELL PIE TERRA = 1.27 m? S.DTIERRA= 0.31m?
S.SUELOSEL1= 12.15m? S.SUELO SEL 1= 12.00 m?
S.VEGETAL = 18.79 m? S.VEGETAL = 14.88 m?
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Pk=0+100 Pk=0+200.033
S.FIRME = 4.24m? S.VEGETAL = 18.50 m? S.FIRME = 3.56 m? S. TERRAPLEN =  2.74 m?
S.RELL PIE TERRA= 1.29 m? S. TERRAPLEN = 4.14 m? S.DTIERRA= 0.30 m?
S.DTIERRA= 0.63m? S.SUELO SEL 1= 12.00 m?
S.SUELOSEL1= 12.15m? S.VEGETAL = 14.88 m?
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